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Math 12 Honours: HW Section 2.3 Horizontal, Vertical, and Inverse Reflections

N 1.

Indicate the transformation from the function on the left to the function on the right: = veaial

a) y=l-oy=-|x-2 b) y=a/x > y=\3-x-7 3——}\“& o ?2

a ) __ %
\l“""?onea\ St Duge o ole ﬂb\r /W ' e

\\r‘i‘f«ka\ eCkion Over - Ax R e gesdy
Bl Sk 9 —A NS AW

7

¢) y=3x+2-= y=-3x-2 " d) v= x> y= ~X" 2 ;—)1_ 4
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2. @iven each equation for ) = f(x), indicate the new equation after each transformation in the ordef stated:
'ig‘(x) —Fx43 " T1. Ahorizontal reflection over the Y-axis 7€ -
= e} 2. A shift of 3 units right  2¢ = -2
(%‘) o 3. A shift of 2 units up P
(20 = =2(2-)+3 |
\F(0)=2(x-N+5 L
>
x 2 5 1. Avertical reflection over the X-axis b e
b) f (\) - ;(1‘ _]):l 2. A shift of 2 units left o> 2«2 O
Ot)= ‘%(Othtﬁﬁl 3. Ashift of 6 units down vy~ 3+ §
o) = =35 (o4 )
Foq) - %C“*‘f-?‘/
¢) f‘(_\-) s S D o - 1. Areflection over the Y=x line ;_’);f(ot)-;'}csg :D
' 2. A shift of 4 units left a4
%.: |Eﬁ -{Q - 2 G

| 3. Ashift of 6 units up 34; \0—6

d) f(x)=5" -1 1. Areflection in both the “x” and “y” axis |
Do) -7+ | 2.A shift of 3 units right

\ Y i iETeSE 3. Ashift of 11 units down
Pla)e =5+l i
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(OL)‘_‘ = 5 = \O | 2
e)x’+y° =9 A | 1. Ashift of 3 units right &¥
f)c_r3>q+ 2-9 2. A shift of 2 units up

’ N 3 i Y )

op f% -’2.) =9 A reflection over the “y” axis, X = -ne
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' [ T —— 1. A shift of 2 units left,

-__:Q.Jy~x+2~3 2‘%: et =3 [ 2. A shift of 6 units down
\ - SCTSITNNE 7 3. Areflection in the line y = x,
b ’761‘4 // ~—
W e
g) y=x'+x’ m2x+1 1. Areflection in the line y = x ),(..‘_-5, sJ
A = U} \{) '10\4: 2. A shift of 6 units down

I’)c (2)*6) Gy 2y « | / ‘1-’?.3“"

1. A reflection in the “y" axis
LO 0(1'5 2. A shift of 4 units right
3.A shift of 11 units up

4. A reflection over the x-axis.

1. A horizontal reflection over the Y-axis
2. Then an inverse reflection over the line y = x

e L

3. Given that the coordmates (a b) are on the functron yp=f ( ) fmd the new coordinates for each function =
after the transformation: _
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'”“'"—r/ HoR. e o (0~ 3. )—?
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/)'-f (%+7)=5 W 4=w=f{3~p) O“b)
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s> €% - Pe?) VR -Cuih‘o) R =L y¢?) (o, '3'0\

- Ple)os VS. 5B (0aTb-S) WS, bl st = Elntd (bw’% )

N=floe?)-5 VR J(Coad, skl [ H-R. —ot+ 4= Peaan) (U= \g"s-oh !
i) y f{=%+3)=2 s x = (- y+1)+2= - r(*g-tl) 7 \J
Qm) A=Ho
\?g A 9= g(@g) -, \3) Tnrece relledtion oc:»p(g)) @hxa) - *
H.R w= Hemnr ‘2—a ) N.S. 1D ’x’"q‘é“) (o 0 A
NS« 0D, . bl mﬁ 2 (2-0,%-2 V.R. 2= flne)  (bol-a
V. R. "Q =Pl-ar)-2 %u"ly H.S. oL o= 8L+ |(b -9\-a) 2 )
wLm- r‘m. et dx&m&e& ook lfee K NOT UL, T Mm OEA{NG- T
(o‘J\L FE:LL .J,m- cepues ¢’ £ w mq&ﬂ) '1 °=° N VARTAGLE
T k) ) *)‘ (x)+2 e ‘1"—22‘f(,1"i"l)
S | 4 | gotty co - Wi (6.
Tovese fncton \D_,f GK) oc '}c—ma(;') bra‘ L:)
S W adda (el 9 RS L g )
B 9-2=Hlocet) VLS. QU a\m)
-2- H:(’“M absdlute, valve wpasfurmosion
A @ | “m')lr/
= 4. Given the graphof v = '(x),drawthe resal.ting image aftereac_h.qt-r‘énsformation:
gié’:"z:’s 3}'/‘;""“ e (l“‘}ﬁfﬁ Lol 7= /‘(—T) . iy v =s(y) )
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= y Tan Vi}
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i) x=—/ ()
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5. Given the graph of vy = .f“(x) and the graph after transformation, what is the equation of the new graph?

’ A IS, OR xmcs [P f R. 92
\\. ,./: V530 ooy / \r\ S. \OR ot
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f(x)=2" |
& HS. IR > o-3 | d.
V C. v ';')-73 |
_fn.-erm eXeption
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6. Given the following transformation, y= f(x)—y= f(
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—x) , which equation below will remain the same?

vi) v =I3(2

E\;) V=

2x+3




7. Giventhat y= x' —=2x" +3x+4, what is the equation of the resulting graph after an inverse reflection over
the line y=x7?

o) —— =¥
\y= 9L = e B -

fo—_ \O’s— '13'24- Z:J « W
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8. The domain and range of ) = j'(‘\') is D:x>7 and R:-4<y<10 . Whatis the domain and range of

R: =4 <‘:)¢10/'/ - -\0<3<%}/ / R ¥>3 J
Obmow Yowgs /2 R Croug 7 g
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=R

9. Given that f(x) =3x+2 and £, (r) =-3x+ 2. What are all the transformation required for _}"(x) to
become £, (x)?

qoo wou\li h.ee(!i 0 mé&r%ﬁ o _\wﬂ_@oﬂéal‘l c&N

¥t&0kion  n order o become
&, ().

10. Given that f'(x)=2"and f,(x)=0.5". Whatare all the transformation required for /(x) to become

\_s fz(l)? rp(%): ‘21 . GD(D(_) wgm‘\é\, MQA f'xe) iuf\(\‘ubo o \\D(QOY}&:?\
. AT S g

11. Given that /'(x)= Jx and Jf+(x)=—V-x+3+4. What are all the transformation required for f (.x) to

become fz-(x)? List them in order. \ b:r&" H(a’) Hf:k‘l’\\ oy ;Os\,zd:f‘—&o'; |
=i —» W= - 03 Y4 WS, 3L = Joex3 Lo
b \:) H"R' 0= m !' - O “f\oﬂiﬁﬁt}_ reHec;ﬁm
U-&- li):- “OL*'B _FULQ i
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12. If the function /(x)=x" + 8x +16 is shifted 4 units up, 3 right, and reflected over the x-axis, the equation is
now: _f'(x) — a(erb)I + ¢, what is the value of a+b+¢?
) éx =
QD(’}():’)C—&OL-HQ = *L{)
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13. Given that f(x)=—+2 and f,(x)=~ 3 +4. What are all the transformation required for 1 (x) to
s X

lﬁ)ﬂ:ﬂ_ﬂlﬂ_ﬁ,(\)? List them in order. %LQ
S ?:L‘ n>uty Y= —\——49 (a-g,\o)
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14. Given that f(x)=3x+2 and f,(v)=~

+2. What are all the transformation required for £ ( ‘) to

3y+3
become fi(v)? List them in order. -8 2R o s i \ ) 1:\?‘0&&(&
D= S+ “ nreise \ ) A% ”Sg;s ‘ P[gca[
~NLK, \W\J , Sm)» A= X e ' &GPS.' ((G‘ \l U(Xmucﬁ%n\-\
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16. If the domain and range of f(x)is ~2<xy<7. 4<y<]| l [Sde =11, wh?t the domain and range of
D3N W
y=—f(-x+4)-37 O ROENE L("X'*”‘ 23 l ot = e
\ < £
‘(\S. LH.. \0 g(m{,q, | -—()40543 H< \Q e ‘O S
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17. A parabola with Equation v = Bk b +pandv tex sreﬂeeted&a results
in the parabola with equation vLch +ex+ . Which of the following equals ¢ +b+c+d +g+ P i
ﬁ
a)2b b) 2¢ ©) 2a+2b g_;h;}‘ @ “d
N Gt ot C = a(oc\nﬂcqaj}c 2+ oh? 4& D T e
—
\: 'l& ~ 2 < Q‘n—OLL
Y= 8% oxest = .-(1( L\}.g\c (_a\q’, 4%!1’15@ }5\ C'(\
' _ 7 G becee 4,@&\ J,
18. What are all ordered pairs of numbers (x,y) Wthh satisfy: ..
X =xy+y’ =13 and x-xp+y =57\ 0{':-‘_3 \O*"*‘G""g ST b:-%’
o
2 Woeo = s S \;')*"3%t © 24120
&)—i-ﬂw:}q__l’} N O G A l+~o&‘ﬁao ‘01 0 o
| S Y x’ + 743# % F\O +25 N\ _-qN\G 4 ‘0 wiiad
poadt 2 f)?_‘o \\g« 0 - 0 = 9 r‘ =3 “h o
) Sabize, /}(, % 2 2 b ‘++g _3
g, %N -1 2 =3 03
l-W’ +3 oy Mh““‘—a \O D /}{/0 -+ q 1}
2 = - L/
G ?2"%7‘1'“"‘3}5{:’7‘5 0o ‘5 :/
v 2
e 2 A<\ en +12=0
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